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Q:1 What approximate value should come in the
place of question mark (?) in the following
question?

(26.913)2 x 6.01 + 6.2 + (7.13)% + 40.02 = ? -
210.75

1.1689

2.1495

3. 1323

5.1539

Q:2 What approximate value should come in the
place of question mark (?) in the following
question?

198.14 x 153.95 + 76.77 + 177.94 — 29477 = ?
1.139

2.195

3.213

5.233

Q:3 What approximate value should come in the
place of question mark (?) in the following
question?

19.73% of 999.82 x /289.09 + 17.29 x 4.98 = ?2 —
15.034°

1. 25

2.15

3.35

5.20

Q:4 What approximate value should come in the
place of question mark (?) in the following
question?

17.7822 - 141222 + (2349.75 + 80.25) + ? = 229.92
1.16

2.24

3.26

5.25

Q:5 What approximate value should come in the
place of question mark (?) in the following
question?

3.97 x 8.01 x 1.99 + 2.01 = 2.01°

1.5

2.4

3.7

5.1

Q:6 What approximate value should come in the
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place of question mark (?) in the following
question?

9.89 x 4.99 + 2.01 x 49.89 = ?% of 299.69
1. 25

2.40

3.50

5.10

Q:7 What approximate value should come in the
place of question mark (?) in the following
question?

499 x 5501 x 554.64 = ? x 110.85 x 1115

1.125

2.75

3.255

5.150

Q:8 What approximate value should come in the
place of question mark (?) in the following
question?

9.99 +19.99 + 29.99 + 39.99 = ??

1.6

2.8

3.12

5.10

Q:9 What approximate value should come in the
place of question mark (?) in the following
question?

19.89% of 449.67 + 14.67% of 299.89 — 9.89% of
9979 =7

1. 75

2.150

3.125

5.175

Q:10 What approximate value should come in the
place of question mark (?) in the following
question?

525 x 4.09 + 3.99 x 9.67 + 6.01 x 1488 = ?

1.150

2.120

3.80

5. 200
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IAnswer Key
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IAnswers and Solutions

Q:1 The correct answer is Option 3 i.e. 1323
(26.913)2 x 6.01 + 6.12 + (7.13)3 + 40.02 = ? -
210.75

Taking Approx Values:
=>(27)2x6+6+(7)3+40="7-21

=729 %x6+6+343+40=7? -2l

=729 x1+343+40="7?-2I
=>M2=7?-21

= ? = 1323

Q:2 The correct answer is Option 4 i.e. 279
198.14 x 163.95 + 76.77 +177.94 — 294.77 = ?
Taking Approx Values:

=198 x 164 + 77 +178 - 295 =?

=198 x2+178 - 295 =7
=396 +178 -295="7

=? =279

Q:3 The correct answer is Option 3 i.e. 35

19.73% of 999.82 x /289.09 +17.29 x 4.98 = ?2 -
15.0342

Taking Approx Values:

= 20% of 1000 x /289 +17 x 5 = ?2 — 152
=200x17+17 x5 =7?2-152
=200 x 1 x5 =7?2-]52

= 1000 = ?2 - 225

=? =235

Q:4 The correct answer is Option 2 i.e. 24

17.7822 — 141222 + (2349.75 + 80.25) + ? = 229.92
Taking approximate values:

= (18)2 - (14)2 + (2350 + 80) + ? = 230

=324 -196 + (2430) + ? = 230

= 2430 + ? =102

=?=2382=24

Q:5 The correct answer is Option 1i.e. 5
3.97 x 8.01 x .99 + 2.01 = 2.01°
Taking Approx. Values:

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

D

Ensuring success through skills

WB Civil Services

"THIE _ DAILY
RONAS [ DOSE ]

Other Competitive Exams

Quantitative Aptitude - Approximation

=>4x8x2+2=27
>4x8x1=2°

=32=27
=25=27
=>?=5

Q:6 The correct answer is option 3 i.e 50.
9.89 x 4.99 + 2.01 x 49.89 = ?% of 299.69
Taking approximate values,

10 x5 +2 x50 =7?% x 300

150/300 = ?/100

? =50

Q:7 The correct answer is option 1i.e. 125.
4.99 x 55.01 x 554.64 = ? % 110.85 x 1115
Taking approximate values,

5 x 55 x 555 =? x 111 x 11

? = (5 x 55 x 555) /(111 x 11)

? =125

Q:8 The correct answer is option 5 i.e 10.
9.99 +19.99 + 29.99 + 39.99 = ??
Taking approximate values,

10 + 20 + 30 + 40 = ?2

100 = ?2

2 =0

Q:9 The correct answer is option 3 i.e 125.
19.89% of 449.67 + 14.67% of 299.89 - 9.89% of
9979 =7

Taking approximate values,

20% of 450 + 15% of 300 — 10% of 100 = ?

0.20 x 450 + 0.15 x 300 — 0.10 x 100 = ?
90+45-10="7

? =125

Q:10 The correct answer is option 1i.e 150.
525 x 409 + 3.99 x 9.67 + 6.01 x 14.88 = ?
Taking approximate values,
5x4+4x10+6x15="7

20+40+90 =7

? =150
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